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Question Number : 1 Question Id : 5244764601 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

‘Economics 1s the study of mankind in the ordinary business of life” was propounded
by

88T N0 A e 23S TG0 JrdNerd edsaHdo’ e
10 FE 0T

Options :
1. Adam Smith
&CE) 0D

1. ®



2. Lionel Robbins

. OTBrIS o)
3. Alfred Marshall
» S(SH)& rdS

4. Samuelson

CRNVOITDRIN

4.%

Question Number : 2 Question Id : 5244764602 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

1s studied m Microeconomics

 DE ETWE S 50 Some) &

Options :

1. National income

236305 P00

1. ®

2. Factor Pricing
580 (200f

2.¢¥

3. General Price Level

P89 8 FPow

3. %

4. Government Expenditure

12020e5 § 3 5AD0

Question Number : 3 Question Id : 5244764603 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Additional utility derived from the consumption ot an additional unit of a commodity 1s

called

208 S0 TB0E) @D AT DATITHO OB FOANS @S
RSIes vz INTe SleluaieV

Options :




1. Average Utility

D5 os0e3des

1. %
2. Total Utility
Swedo a50e3des
2. %
3. Marginal Utility
S383S A50e3¢es
3.¢
4. Profit
4. % @2:)0

Question Number : 4 Question Id : 5244764604 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

‘Economics 1s the study of Wealth’ was stated by

DETNE ) &S & DB sH IS D)) &
Options :

1. Alfred Marshall
8 SB)H)& S

2. Lionel Robbins
DTS o7

2. %

3. Adam Smith
&CE) VS

3. ¢

4. JM Keynes
IM&S)

Question Number : 5 Question Id : 5244764605 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

When elasticity of demand equals infinity 1t 18 ----------------- ,

A3rob gy VBT HES 9308 DITNO 0NN @E -—ormmeem-

Options :



1. Unitary Elastic

NN e Kovidef

1. ®

2. Perfectly Elastic
L, Qo rn

3. Perfectly Inelastic

DS eSS

3 0%

4. Inelastic

oSeh

Question Number : 6 Question Id : 5244764606 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Veblen Goods represent --------------------- goods
P S g TR SWH e ST oM
Options :

1. Inferior
T80

2. Normal

O

3. Superior

&) HJVD
3. ¢
4. Giffen
o BDS

Question Number : 7 Question Id : 5244764607 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

A negative sign of the coefficient of price elasticity of demand denotes

B3r08 T30E), OB VFIES A3E), B0 ), (Dedre HOBS0
Q AFDVoS

Options :



1. Direct relation between price and quantity demanded

58 L8080 BITr0& TN HBXPEI0 NS 10558 Ho2y0d0

1. %
2. Inverse relation between price and quantity demanded
253 08050 BIr0& D830 s DS Howodso
2.¢
3. No relation between price and quantity demanded
58 DBA8N B37r0E DBITEI0 s D000 S
3%
4. Positive relationship between price and quantity demanded
5% 08050 BP0 & HBNTEI0 S PN ETTE D000
4. %

Question Number : 8 Question Id : 5244764608 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

When Marginal Revenue 1s zero, total revenue is

Gar0dh eC3PON0 DT®) oM IR, Inedo ord

Options :
1. Maximum

580

1. ¥

2. Minimum

W,
- SINPON
3. Zero
. aDd”)
4. Decreasing
. SRS

Question Number : 9 Question Id : 5244764609 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Difference in Actual and Potential Price represents

TS BTN D0eTSS B Ssesd0o JFDNO

Options :



1. Tax Surplus
DAY AEN

2. Consumer’s Surplus

DOZFHTE N

3. Producer’s Surplus

QT2 A& e
3. %

4. Export Surplus
L RS Dorden

Question Number : 10 Question Id : 5244764610 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Ranking of preferences 1s

---------------- Utility
|05 T80 —--———e a0e3des
Options :
1. Ordinal

L, 88S

2. Cardinal
SHOINTS

3. Marginal

L. Garod
4. Average
QD
4. %

Question Number : 11 Question Id : 5244764611 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

1s an exception 1 the law of Diminishing Marginal Utility.

O Garoeh A3 S$A0T HEOS’ WSOV

Options :



1. Continuous Consumption

QB0eHS DATIFHO
1. %
2. Standard Size of Units
OFL) |0e38 HDBXFe90
2. ®
3. Rational Consumers
22NN AABIFHTEen
3. %
4. Hobbies.
Lo DB TEN.

Question Number : 12 Question Id : 5244764612 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

When a consumer 1s in equilibrium position when marginal utility of money
expenditure on each goods 1s the same 1t 1s called-------------- :

DITBFHECTEICE DNB"r 5 VB &9 ) (5963 SNYD chend) )
T30EY G0 (D230 2,8 DO €50 QI TR -wm-meemmmmen
0EFr.

Options :
1. Marginal Utility
3rO3S Asne3des

1. %
2. Total Utility

X EDJP:?O SO
3. Equi Marginal Utility
4. Time Utility

RS oS0e3des

Question Number : 13 Question Id : 5244764613 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



———————————————— reasoning 1s method of drawing conclusions by going from the specific to
the general.

................ 0,50 ©TE ABR N0 Frerde VO P Bompmren TR

Options :

1. Deductive

$H0%

2. Marginal
CeorOcd

3. Normative

O

4 Inductive

RS

4.

Question Number : 14 Question Id : 5244764614 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Pen and Ink 1s an example of ---------------- goods.
B0 D OGNS e DAWYDOBL G SeD.
Options :

1. Superior

&) SHIVIE

2. Inferior
80

3. Complementary
SO0

4. Substitute

(TSI ONO

4.%

Question Number : 15 Question Id : 5244764615 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



As price of good X increases the quantity of Good Y mcreases represents -------------
goods

DB SN X S8 DOTFD. Y 9T 50 H887e00 EAS, e0¢3
ATV TSR S — HeVYEN OEFH.

Options :

1. Complementary

., Toadoed

2. Substitutes
PILINVUATOVIDY

2.

3. Normal

O

4. Inferior

SISV W

Question Number : 16 Question Id : 5244764616 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

MRTS 1k is

MRTS 1k €©0T)

Options :
1. K/L

1. ®

2.L/K

2. %

3. MUa /MUs

3. %

4. MPr, /MPx

4.

Question Number : 17 Question Id : 5244764617 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



The sacrifice of the next best alternative 1s

5008 &S (DePsed) OH0 TWNE)Y 50
Options :

1. Incremental Cost

20050e508) X))

1. ®
2. Equi-Marginal Principle
&8 3-8 0D (DR HYND
2. %
3. Opportunity Cost
3. 29:95°% D)
4. Actual Cost
Lw RN S

Question Number : 18 Question Id : 5244764618 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Change 1n Total Revenue 1s

[0 SoH0S IS @IT?

Options :
1. Marginal Cost
Csar0ed OO

1. %

2. Average Revenue

QRN orB

3. Marginal Revenue

GorOch TPl

4. Profit
20

Question Number : 19 Question Id : 5244764619 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Cartels represent ---------------- market structure

S50 1o T — 3B QTR AT O

Options :

1. Monopoly
BTEDS S0

2. Autocratic

QG083

3. Bilateral Monopoly
358 & HE@OdIed50

4. Oligopoly
2, OF PO

4.«

Question Number : 20 Question Id : 5244764620 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The shape of the Average Fixed Cost 1s

OHEN DE S o), es8yed
Options :

1. Straight line

HEY DY

1. #

2. Concave to the Origin

P PR8 HETT S50

2. %

3. Rectangular Hyperbola

. SBNBSR TS 08 e
4. Convex to the origin
L rerdS $o0ersS

Question Number : 21 Question Id : 5244764621 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Relation between mputs and the resulting output is

I E N HBAZN Db @Y E s D200

1. Cost
D)

2. Production

b )

2.

3. Advertising
BSAINISY

4. Revenue
oo205

Question Number : 22 Question Id : 5244764622 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Speculative demand for money is a function of

220)) 800 &33523 b (33708 2.8 DO

Options :

1. Income

eSO
1. ®
2. Proht
yx RO

3. Rate of mterest
L SGBew
4. Money Supply
¢5220)) OBNT®

4.%

Question Number : 23 Question Id : 5244764623 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Sellers are Price Takers 1n

DBehen 58 SDET IS

Options :

1. Duopoly

N VA ED
2. Perfect Competition
L D0 v¢3
2.¥
3. Oligopoly
. 2OFPO

4. Monopoly
QNS0

Question Number : 24 Question Id : 5244764624 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The Production Function Q = AL*K® was propounded by
&8 HoES Q = ALYKF o 00 | DBFE0DDE0S

Options :

1. Cobb-Douglas
5225-¢50%

1. ¥

2. Mincer
SAVNRTS

3. Marshall
N o 15)

4. Adam Smith
BB VB

Question Number : 25 Question Id : 5244764625 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



[soquants represent

OPs° 0N ISVEATIOW
Options :

1. Consumption

D3P NO

2. Production

Cseh )&

2.¢¥

3. Buyers

FFenTEen

4. Weltare
HOTHO

4. %

Question Number : 26 Question Id : 5244764626 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Profits are

P2 ROTY
Options :

1. TR= TC

2L IR T

2.¢¥

3. MR < MC

3. %

4 FC -TC

Question Number : 27 Question Id : 5244764627 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

One buyer and one Seller represents

2,8 TRORNETE 85w 2.8 JBeh BP0 ST ED

Options :



1. Monopoly

IS0
1. ®
2. Monopsony
PR VSTV ATY
3. Bilateral Monopoly
B5>8.8 HTHIS$50
3.¥
4. Monopolistic Competition
Le OIS NN

Question Number : 28 Question Id : 5244764628 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Dumping 1s a feature of

S0DOR TS 2.8 o £0
Options :
1. Perfect Competition
HBE ped
2. Monopolistic Competition
TS
2. %
3. Oligopoly
o uOFO
4. Price Discrimination
nTePANT:]
4.9

Question Number : 29 Question Id : 5244764629 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Marginal Product equals

Garoch treh)ed DT80

Options :

1. VMP x Price

1. %



. 2. MPr. x Price

2.

3. AP; x Price

3 %

4. MPP x MR

4.

Question Number : 30 Question Id : 5244764630 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Short run Average Cost curve is

5050 B S55A% SETY
Options :
1. U Shaped
U 85308

1. ¥

2. L Shaped

. Lesdod
3. Horizontal to the x -axis
3 x-095°R8 eogorr
4. Parallel to the y -axis
y-03r8 Yok ddrossSomnr
4. %

Question Number : 31 Question Id : 5244764631 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Marginal Cost 1s

8IS 570 @O

Options :

].. T(?n T T(?n-l

2. T(jn = T(:.‘n-]_

2.¢¥

3. AVC +AFC

3. %



4. Average Cost

Qe Y

Question Number : 32 Question Id : 5244764632 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

If an Individual 1s indifferent between a certain given income and an uncertain income
with the same expected value he 1s

2,8 358 2,8 BN SrAH0 BN T 90NIT® JenN& 0
BTON0 N5 GTRNOM GO, b

Options :

1. Risk Neutral
8) g0 d

1.

2. Risk Averse
8} Ddwaed

3. Gambler
237 CR)

4. Risk Lover
8 @58

Question Number : 33 Question Id : 5244764633 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Dynamic Theory of Profit was propounded by

BIWE BHAHS & |TDED DSBIEOTTE

Options :

1. Joseph Schumpeter

S0 oL

2.0 B Clark
I1B.5°5)

2.¢

3.1.S. Mill
23,000, aeN

3. %



4. R.G. Hawtrey
e35.28. 5%e3

4.%

Question Number : 34 Question Id : 5244764634 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Quasi Rent 1s a concept propounded by

o880l oxd DSBTAODDAS 275
Options :
1. Lionel Robbins

O S T°AS)

1. ®

2. Karl Marx

. 520 55°8), )
3. David Ricardo
3 B26 858

4. Alfred Marshall
3(B)& SrYS

Question Number : 35 Question Id : 5244764635 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Keynesian theory of Income and Employment is also known as -------------------
Equilibrium

SPOH0 8RN GIFEL H022080DS ETVAHS OB e mssomusssa
QNS 50 @ HrE ©0eF.
Options :
1. Full Employment

1. ® ;g)‘bg @Q-D@

2. Underemployment

5800 Gard

2.¢

3. Unemployment

QEE 50

3. %



4. Natural
QarB OO

4.%

Question Number : 36 Question Id : 5244764636 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Permanent Income Hypothesis was propounded by

o3 (b @3C3PO% 08 ) (03O 0NDE0E
Options :
1. JM. Keynes
TM. 85y

2. Dusenberry

Brs 238

2.

3. Milton Friedman

DOS [ DEIES

3. %

4. Modigliani

SRR

Question Number : 37 Question Id : 5244764637 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Who stated ‘Supply creates its own demand’?

DEDT® S D505 BITORD DYt DO € KB Tar)&?
Options :
1. Alfred Marshall
S8(S)& JrOS

2. A.C Pigou
,x  ACDT
3. J.B.Say
ERARS



4. Adam Smith
&8 RSB

Question Number : 38 Question Id : 5244764638 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

“Money 1s what money does” who said this

"¢H230)) @OTI 3200)" DI TN

Options :
1. Crowther

5°60

2. Walker
e 50

3. Krugman

NN

4. Marshall
Lx QO

Question Number : 39 Question Id : 5244764639 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

M = KPY 1s the equation propounded by
M =KPY ©J& (DBTE S HDEB0

Options :

1. Marshall
SrOS

2. Robertson
or22008

3. Pigou
3. sg gjﬁa

4. Keynes

83)

4.%



Question Number : 40 Question Id : 5244764640 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Ando and Modigliani stated of Consumption
S80& BN IrSAET DATIFH0 HE0D DE ) S
Options :

1. Psychological law

SrdE DO
1. ®
2. Relative Income hypothesis
08 850l H8EHS
2. 8
3. Permanent Income hypothesis
3% £¢5 303700 088> )
3%
4. Life Cycle hypothesis
S V8S H8Ee>)S
4.9

Question Number : 41 Question Id : 5244764641 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The total value of goods and services within a country during a year 1s called as

2.8 0505515065 TFOS'Q SeWsYHe B0 N BNB0 Dexsdddd
®0er.

Options :
1. Net National Product

DES 2B cach )

2. Gross Domestic Product

Qe DRI )€

2.¢

3. Gross National Index
Qre) 22305 AT DE

3 %

4. Gross National Product

Jre) 233 T3eh )

4.%



Question Number : 42 Question Id : 5244764642 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Direct taxes are deducted from

D558 Dy ew OB SVIAHhEon

1. Personal income

S558K¢% escroHo

2. Domestic mcome

53059 e85°aH0

2. %

3. Private income

I 35700

4. Disposable income

DB LATBrHNENIBR e8c3°AHO

4.

Question Number : 43 Question Id : 5244764643 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The Minimum Support Price is recommended by

EQD &by &9 = DE) TOHDROE

Options :

1. ICICI

2.IDBI

2. %

3. CACP

3.¥

4. SSA

4. ®

Question Number : 44 Question Id : 5244764644 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Laissez faire represents

SE DV (TS0 SN0



Options :

1. Government Intervention

1205 ¢ Z°E50

1. #

2. Non-intervention of the State

O[O SE0 DS EFI%0

2.

3. Communist Principle

INWHTAIS OIS Yo

3. %

4. Dictatorship

QA0 yed 5O

Question Number : 45 Question Id : 5244764645 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Average Propensity to consume is measured by

DATZFAOT DN (D393R AR & T° Fenar D

Options :

-

@
\
o

4. 1- MPC

4.%

Question Number : 46 Question Id : 5244764646 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Effective Demand is a concept of

19927793085 0 BITr0&H O 2.8 2735 (DI Q0D

Options :
1. Adam Smith
B3CH00 0263



2. JM Keynes
IM&S)

2.¥
3. I.B. Say
.« JBX
4. Gary Becker
58 2355

4.%

Question Number : 47 Question Id : 5244764647 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

‘Bad money Drives out good money’ 1s

2758 D (B ©9HE HE A’ T

Options :

1. Okun’s Law
2300 Do

2. Say’s Law

3. Gresham’s Law

(B &0

3.9

4. Gossen’s Law

A0S 8o

4.%

Question Number : 48 Question Id : 5244764648 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

In the equation MV=PT . P represents

MV= PT dESea06S, P PO RAT TR

Options :

1. Profit



2. Per unit Change

2,8%), OEE S

3. Velocity of circulation
. D08 B0
4. Price Level
ek oW

4.9

Question Number : 49 Question Id : 5244764649 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Coins made out of various metals like gold and silver is called ----------- money

2)0TPSE0 BN oA 35063 DS TS HOSFE TONVES B

Options :
1. Metallic
S0erd§

-2

. Credit
B&E

3. Bank
2508

4. Paper
2206

Question Number : 50 Question Id : 5244764650 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Money used for day to day purposes is called

22378 9300780 GITBrROT e) e90E3%d

Options :

1. Speculative

Eart23)ed

2. Transaction
Lo PTT



3. Precautionary

SN0 237§

3. %

4. Stock of Wealth.
H0HS TTE

Question Number : 51 Question Id : 5244764651 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Selective credit control 1s also known as

VBES BEE AAHO(59 e @0

Options :

1. Quantitative

DO eT8 8

2. Qualitative

foeTeed )8

2.

3. Bank rate
23508 D

4. Open market operations.

5,08 3By & 523 58erren)

Question Number : 52 Question Id : 5244764652 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The Monetary theory of Business Cycle 1s associated with

o5 0 TZEY 19S5 D00 205002308

Options :
1. Hawtrey

59563



3. Keynes

83)

4. Schumpeter
0DEE

4. ®

Question Number : 53 Question Id : 5244764653 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

In the expression Y = C + I+ G + (X-M), if X 1s greater than M, Balance of trade 1s

X58886° Y = C + 1+ G + (X-M), X 9 M E0T) B0 &0, sredess
QOSSO0

Options :

1. Favourable

L, ORETORIS
2. Unfavourable
SININE VISV INT

2. ®

3. Deficit

L. Sew

4. None of these.

DE3S” DA B,

4. ®

Question Number : 54 Question Id : 5244764654 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

BREXIT 1s

BREXIT &0T)
Options :
1. US withdrawal from NAFTA
NAFTA 0& US G000 3e

2. UK withdrawal from EU
EU Q0 UK G007 3e

2.



3. UK withdrawal from NATO
NATO Q0 UK & DQ0TH0

4. UK withdrawal from SAARC.
D) D0 UK G500 S

4.%

Question Number : 55 Question Id : 5244764655 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The Big Push theory was propounded by

DN D DTPOT) (0T E0TITR
Options :
1. Gunnar Myrdal
o) B DTS

2. W.A Lewis

L. WAOron
3. Paul Romer
oS F0E
3. %

4. Rosenstem-Rodan

FRASRONS-TS

4.
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Which year 1s referred to as ‘Demographic Divide in India’?

2rEST30S 2aer D253 @R &) N05SNTRY OFQDTE?

Options :

1. 1881

2. 1901

3..1921

3.9



4. 1951
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According to the 2011 Census the number of females per 1000 males 1s

2011 230°2 BELe (95°G0 1000 HOE HAOEL Lff}g@ QO
2S5 TF0S?
Options :

1.924

1. ®
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The abbreviation NFHS 1s related to

NFHS ©03 008 &5 A $502)080DIE

Options :
1. Housing

S00h

2. Health
8850

2. ¥

3. Horticulture
SFQEe )6

4. Animal Husbandry
D% DO0HYESD
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The National Rural Employment Guarantee Act was adopted in

2SO (PN Sard 5391 S&0 50531506 SRFE0H0E0S

1.2002

1. %

2. 2005
L4

2 of

3.2003

3. %

4.2001
E
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The PURA Model of Development was advocated by
PURA J7%SO &5 BI0oD00E D 120€3B 0T

Options :

1. B.S. Minhas
D))ol SRR

1. % ~

2. Mahatma Gandhi

e mod
2.
3. Dr.A P.J. Abdul Kalam
L, EADB.0WS §ero

4. Shriman Narayan

RS 0 0HS
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AMRUT 1s

AMRUT @03

Options :



1. Rural Transformation

(TP DBIBS

1. ®

2. Urban Transformation

5869 HBISS

2.¢¥

3. Poverty Eradication

2088 JEF 08

4. Employment Scheme

=reaPilatle
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Kyoto Protocol 1s connected to

§%¢&° (¢SS 40 020H0DOA

Options :

1. Green House Gases Emissions

BS TR AN GTTTren

1.

2. Endangered Species

0S80 2edden

2. %

3. Desertification

Le 888

4. Natural Disasters
198y JIDBesen

4. ®
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The ----------mmmmemm- Government was the first to introduce the Employment Guarantee

............................. 1972-7365" GG TP DA 193503 (02568 50

Options :



1. West Bengal
DB BorrS

2. Maharashtra
) ST R
2. %

3. Tamuil Nadu
ST TR

4. Gujarat
23o°S
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G Coefficient measures

A 1280 TA BOADENOAD

Options :
1. Optimum Tax Rate

&0 D) Bew

2. Dismvestment
VDD G0 BED

2. %

3. Imports and Exports

A0 AN DN

3. %

4. Economic Inequality

e38% 9057 eh
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Demographic Dividend is

BIF[ToE AATZ0& @0y
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1. 13- 60 years
13- 60 Q0S5 YTen

2. 30-50 years
30-50 005 YT

3. 15-64 years
15-64 0055 )T
3.
4. 12- 60 years
12- 60 DOSS T e
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The age of High Mass Consumption 1is a stage 1 --------------- Model
0% (S5X50°8 DITZrK0 TB0EY SAKDY ~--mmemmmmeme eSS 28 5%
Options :

1. Joan Robinson

S8 ooDSIS

2. Lewis
PN

3. Solow

e S

4. Rostow

., Bs
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Warranted Rate of Growth 1s a concept 1 --------------------——- model
SOV T B (HS OO e, SrS S 2,8 27288
Options :

1. Harrod -Domar

ool A T INVa)

1.¢



2. Solow-Swan

DS S

3. Paul Romer

S Bob

4. Karl Marx
50 &363.)
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-------------------- stated ‘A country is poor because it 1s poor’.

2.8 T30 DA 5708 @08 ' @ DT .
Options :

1. Boeke
L. 8T

2. Myint
D0

3. Ragnar Nurkse

o) B S8

3. ¢

4. Hirschman
TR
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The terms Positive and Preventive Checks 1s associated with

T23¢38 SDBAW (DRSS THe OF HTTEen =
SINVEATe TR oW

Options :

1. C.P.Blacker
.2.2r86



2. Malthus
VIS

2.¢

3. Carr Saunders

., SOarocd)
4. Thomas Doubleday
. PR BaSE
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The difterence between visible exports and visible imports 1s

EQNOT 5006831 8050 EADOT BN 05 Sseaesdo .
Options :
1. Balance of Trade
2SS @ &

1.+

2. Balance of Payments

BO0He 2rsBS)

3. Balanced Terms of Trade
Q0O 3763235 D2D0dEN

4. Gains from Trade
32350 OB ergre
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National Family Planning Programme in India was first launched in

2P SESTIOS 23705 Foe02) A0 SB35 E0 BNSEIT O
H0SS 50 S0 odB0d

Options :

1. 1948

1. ®

2. 1952
L4

2. i



3. 1949

4. 1950

4, %
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National Securities Depository Limited (NSDL) was started in

TASS 875830 A28 drob (NSDL) HoSS 50
rS08)0N2G08

1. 1991

1. ®

2. 1990

2. %

3.1985

3. %

4.1996
L

4.
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Long term Fiscal Policy was mitiated in the ------------- Plan.
479 5 DL TG I T T N DT RES |FE0DoVDR0E.
Options :
1. Fifth

. 59853

2. Eleventh

IoleSoTe N

3. Seventh

LD

4. Twelfth
D) 088
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The International Organisation IPCC 1s related to

90T AR QO [PCC 40 D0220H0DIO

Options :

1. E-Waste Management

& RS oD

2. Climate Change

EINTe 1A RNV

2.¢¥

3. Demography

BN

4. Marine Life Protection

BS BD VLS
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The Chairperson of NITI Aayog 1s
Qed S8Brh TEIEI®

Options :

1. Lt. Governor

S0 5386

1. ®

2. President

L ®3s8

3. Prime Minister
L TS Soe

4. Chief Minister
. ANWEWVeIEE
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Which of the following Plan duration 1s correct?

808 73S ) S 553 HBIE?
Options :
1. Tenth Plan 2002-07
. HE (DT DE 2002-07
2. Ninth Plan 1992-97
FAE (DT DE 1992-97

3. Twelfth Plan 2007-12
D) 0 (DTS 2007-12

4. Second Plan 1958-61
B0 |DETDE 1958-61
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The Offticial definition of Sustainable Development was first developed in

RIS BIODR0ED T3NEY @58 QB 900 TNE) @D HHE
DoH2B0S

Options :
1. Paris Agreement
8 2,0)080

1.

2. Rio Conference

833> 2B

2. %

3. Brundtland Commuission

20&er508% EDAS

3. %

4. Earth Summut

DB HE

4. ®

Question Number : 78 Question Id : 5244764678 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Blue Revolution 1s related to

A dASo _ H022080DIE
Options :
l. Cotton

DS

1. #

2. Fertilizers

NIV TV

3. Leather

PR YN

4. Fisheries

053§ D0

4. %
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BIFR 1s

BIFR ©0OT)

Options :
1. Private Sector

DR doio

2. Public -Private Partnership
DT | DI 2T 5050

3. Liberalisation

HEDESe

4. Revival of Public Sector Units
190250685 ¢ B0t ONTAE) YK

4.
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The Objective of the Fifth Five-year plan 1s

20855 DONSE (DeTPE e 50

Options :



1. Selt-Reliant Economy

5900 @8E 5550

1. %

2. Self Sufficiency
i QD SON0 DY@

3. Industrialisation
L, TOF8Ese

4. Growth with Social Justice

L DIrRE T 0008 S9&

4
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The Crop Insurance of the Government of India 1s

2355 |2020ed §0 T3NE) DO ANV

Options :
1. Paramparagat Krishi Vikas Yojana

DB0NBHS Eya DsPR T3

2. Pradhan Mantri Kisan Maandhan Yojana

2 (DG $D0(e3 EPR DV TI°23
3. Pradhan Mantri Fasal Bima Yojana
(DTS K018 HHS DX Bz
3.
4. Kisan Credit Card
4 8IS IR 520
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Rice and Maize are ----------------- crops

58 S3BAK0 TEYEW -roemremmmmen DOEIEN

Options :



1. Rabi

1. % (52?)

2. Khanf
&

Lo DO
3. Zaid
=5

4. Winter
Lx  JTETOO0
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--------------- 1s the apex bank for Agricultural Development.

............. NI ASTE D D8 @050 ¢ 2050

Options :

1. IDBI
W

1.

. 2. SIDBI

2.

3. NABARD

3. ¥

4. ICICI
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SFURTI 1s

SFURTI ®0T)

Options :
1. Agricultural Productivity

250D s )OS

2. Iirigation

eSS de>



3. Service Sector
> Soio

3.8

4. Regeneration of Traditional Industries

P OLDTTO% DOF DO HSBdH e
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One Nation. One Market 1s

2,3 040, 2.8 38 edrr

Options :

1. Insurance

L. D&

2. e -Nam
L. T, L
3. Ration Card
. OAS =W

4. Skill India
S 0SAST
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DWCRA 1s associated with

DWCRA 902208000308

Options :
1. Rural Artisans

(P09 5 0en

2. Urban Areas
DD [GTrOTTEeN

3. Smart Cities

25 2eSen

3. %



4. Women and Children

TFEN DB DLen
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The expansion of SFCs 1s

SFC® DB e

Options :
1. State Financial Corporation

ool @888 HoR

1.+

2. Small Finance Companies

D) DTS EoDAEN
2. % ot
3. State Fund Centre
. RS Dok osrd
3.

4. State Fishing Corporation.

R DAOH SEIBAS
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According to the National Population Policy 2000, the target to reduce Total Fertility
Rate by 2010 1s

2 A% 28T DGO 2000 [(DSS0. 2010 5°¢38 Bdo HoeS'eh 183 B
%o oS0 & s0.

Options :

L. 245

2.1.0

F.2.1

3. ¢

4.1.5
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NIFTY 1s the index of

NIFTY @38 POVALS

Options :

1. Bombay Stock Exchange

2023 'S I8))025

2. National Stock Exchange

BASS 5 D8 )0k

2.

3. Madras Stock Exchange

R FE I8 o

4. Kolkata Stock Exchange

'S & 8§ I8 0%
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Agricultural Holdings 1n the range of 1-2 hectares are known as--------- Holdings.

122 258 DA &) Jedrodh Trdoferc 2570©0of )
SlelihleM
Options :
1. Small
AN

2. Medium
S0¢hsD0

3. Marginal

L. Toroed

4. Large

DO
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The Antyodaya Anna Yojana 1s related to

0SB0 @) Tre3dH HoD0BODNIE

Options :

1. Agrarian Distress

D50 2378

2. Public Distribution System
1922 HODEI 55DV
2.¥
3. Agricultural Credit

D50 K20

4. Employment Generation

Gord §0)

4.%
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Satyavedu Reserve Infracity Pvt Ltd 1s located ---------- district.

D553t 8235 5 ASETRES [ OWBE --ommemeee 2ereS God.

Options :
1. Tirupati
e30Ded

1.+

2. Guntoor

BN e MeTAv eV
3. Krishna
3.8 éa%&'

4. Vishakapatnam

L TP O
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The Chairman of the 13™ Finance Commission is

1305 @388 Q000 THQ

Options :

1. Mahavir Tyagi

N6 = 5h

2. Y.B Chavan
Y B O
2. %
3. C.Rangarajan
. SolTrES

4. Kelkar
B35
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Narasumhan Committee 1s related to

SBVOTE $0e38 L020L0DIE
Options :
1. Capital Markets
SPSCD ST N

2. Privatisation

2Se38Se

2. ®

3. Centre -State Relations
BO(K0-T°(a) DOVOLTEN

3 %

4. Banking System

2750800 5558
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Nationalisation of 14 major banks was i the year

14 (DTS 20800 27e3a0TEBed HDodeS Y30 38808

Options :

1. 1967

2. 1991

2. %

3. 1969

3.

4. 1988
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The tertiary sector 1s also known as --------------- sector.
A 3DEG VO, memncezane S0H0 0 S @90Erd.
Options :

1. Primary

BRI

2. Secondary

2808

3. Manufacturing

L Soswb

4. Service
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SEBI is the regulatory body for
SEBI @38 Q0| ehea SO

Options :

1. Small Scale Industries

DA SBG® DB Baden



2. Stock Exchange

8 28025

3. Private Banks
DI 2rsodoen

4. Manufacturing Industries

S8 HBFSoen
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Lewis model of development 1s based on

SVIOWINELEANITA RN SIS0 GOd

Options :
1. Surplus Labour

oen S8

1. ¥

2. Limited labour supply

L 8 5288 DOHT
3. Developed Economies
29D TOAD &38¥ Ssdvew
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4. Natural Resources
L 028 DBeN
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Bulls and Bears are

2065 ) B0 DenrH20Y 8 JTI Yo &S
Options :
1. Officials

DIRISHONDY

2. Brokers
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3. Speculators
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4. Players
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The Indian State which leads in Shrimp Production 1s

556> Ered 1B’ PR &) PS5 T°LR0
Options :
1. Orissa

2,0°)

2. Andhra Pradesh
e80(HO0T3

3. Tamil Nadu
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4. Guyarat
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